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M - EBRERE F= 972,843 936,855
wEYE T= 2,988,264 2,912,255
E i + g 598,188 601,782
RN +75 210,770 196,955
HEZESI % ++ 962,186 14,553
mEEE +N 4,328 2,275
AHERE +h 1,279,770 1,057,684
JEWIZ B B 3 = 82,158 283,099
BT IBE E H.(0) 16,237 11,285
HiIEREBEE == 803,649 370,951
7,918,393 6,387,694
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BREBRYE —_+= 1,071,824 1,026,554
rE == 224,346 235,674
ZEOREMEBREREEMiZE — 4 870,417 303,049
AHERE + 1 25,260 29,038
PTEFKITA —+% — 5,363
A] 4y [B] 7 18 2,779 4,169
BITER - BekRITEH —+x 3,427,514 3,864,250
5,622,140 5,468,097
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RITEE —t++ 91,742 166,995
B 5 REMEERER —+N 634,005 519,243
MEMBITAE —+1 26,141 —
1B BB FI %M —t+h 27,654 28,222
JESF IR 34,432 65,211
813,974 779,671
REEEFE 4,808,166 4,688,426
EEBERABER 12,726,559 11,076,120
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2006 2005
k=2 (B¥T ) (BETT)

FREBERE
BITEE —t++ 834,982 849,724
REFRIBAEE 1.(0) 180,490 158,412
LERRE K = 974,314 1,104,858
1,989,786 2,112,994
EEFHE 10,736,773 8,963,126
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& A< == 547,628 520,505
15 == 8,030,269 6,530,298
itk i 8. 175,241 93,691
AD B RRENER 8,753,138 7,144,494
DB R 1,983,635 1,818,632
EEEE 10,736,773 8,963,126
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